


()10 0.1kg

L Cso
(b)10 0.1kg
LCs (ppm)
10 (ko)

0.1ppm




ECso

PEC Predicted Environmental Concentration
Tier



PNEC (LCs
(ECx) NOEC

(PNEC/PEC=TER)
TER



(PEC

AEC Acute
Effect Concentration
AEC
PEC
PEC AEC
PEC AEC




(AEC)

PEC




PEC

PEC



PEC



Runoff

0.02%

100%




100 km?

500 ha 750 ha
2.0 km?
100 km?
50% 3.0 m¥/s 75% 1.9 m¥s 5.0 m¥s

3m¥s

50 km 16 m

1 kmx 5.0 kn

l/ 1kmx 7.5 km
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10% 5%
5
1
(%)
(ha) (km) (ha) 1
5.0kmx 0.1+ 5 =100m
500 5.0 10 50
5.0kmx 0.1+ 1 =500m
7.5kmx 0.05+ 5 =75m
750 75 5 37.5
7.5kmx 0.05+ 1 =375m
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16 m

5m 16m 2 13m 10 m
16m 2 18 m
0.3% 13 m
0.1% 18 m
3.4% 18 m
%
(m)
1 4
2 1.6
3 1.0 4.9 7.5 29.6 19.6
4 0.9
5 0.6 1.6 5.2 19.5 10.1 18 12.7
7.5 0.4 1 2.6 14.1 6.4 8.5 10.8
10 0.4 0.4 1.7 10.6 4.4 4.8 8.9
15 0.2 0.2 0.8 6.2 2.5 1.7 4.7
20 0.1 0.1 0.4 4.2 1.4 0.8 3.8
30 0.1 0.1 0.2 2.0 0.6 0.3 2.1
40 0.1 0.4
50 0.1 0.2 0.1 0.3

Ganzelmeier et. al., 1995
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%

0 10 25 50
23.2 2.1 1.3 1.3
y 4.6597 x5! R? 0.9926
13 m 1.9% 18 m 1.7%
1/150 1m
1m 4%
100
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PEC _ Ivlrunoff +MDr +MDd
Tlert 3786400 T,
I:)ECTierl
I\/Irunoff g
I\/IDr
Mpyq
T day
R
— s p s s
runoff ﬁ Ap fp
i Driver i 4
or — —="Z Ndrift

od = |

100 river

4 Dditch - - N
drift

100 ditch

ha

%

%

day

%
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g/ha

ha/day

ha/day

(1)

(2)

(3

(4)



A, (ha) 50 50
T, =2 days 15.6 19.0
R, (%) T, =3 days 22.4 27.1
T, =4 days 29.1 34.4
D iver (%0) 0.3 1.9
Z.. (ha/day) 0.16 0.8
Dacen (%) 4 100
Zgiwen (ha/day) 0.07 0.33
T, =2 days 1 1
Narit T. =3 days 2 1
T, =4 days 2 1
1 0.3
o (5) 0.5 1
0.2
o X
= X
PECﬂqlz‘_TEQETET—— PECﬁ31:_7_J!BLT__
11" 86400 T, 37 86400° T,
PEC+ien g/m?
M unofs g
Mp, g
(Y —— i A
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(5)

(6)



M — | ’ river - Z ] s N ) 7
Dr 100 river drift ( )
I g/ha
Driver %
Zriver ha/day
Narift day
R, %
A, ha
fu
A, (ha) 37.5 37.5
R, (%) 0.02 0.02
0.1
. 0
Drlver (/0) 3.4 1.7
Z.er (Na/day) 0.12 0.6
Ngrire (day) Te
0.1 0.3
fu (_) 1 1
+ X
M _+M +M, +M_,, - M
PEC,,, = — =02 50 = (8)

3786400" T,
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I:)Ec;TierZ

Mout
Mseepage
I\/IDr g
Mpgq g
Mee g
. 0 O
laagG .
]I- 5 Qou’[ Ap fp
Mmﬂ:i%l
.I. C. , QOUt Ap , fp
T i=0
0 o L
leg a G Lo 9
:é 5 Quepage Ao~ ToZ
M =i
seepage
.I. %_1 O
lg C' Qseepage Ap fp E/Klevee
| €i=0
D.
M = 4 river . - N..
Dr 100 river drift
D itch ~
Dd — ﬁ gten Nt
Mse =(Mout + Mseepage + I\/lDr + I\/lDd),
Qout
Qseepage
G
KIevee (-)
2 (m?)
Ve m
MNse g/cm3
0Cee
Klevee = plﬂ Koc ’ Ocle\/ee/loo-'-l
rws

Koe ] ocse/loo,pse,vse
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%

Ko 0Cs/100" po .~ Vg +V,,

m*/ha/day
m*/ha/day

g/m

(9)

(10)

(11)

(12)

(13)

3
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I levee g/0m3
Mws B
Koe cm®/g
OCIevee %

- m - m

a. out ,i +a seepage, i +MDr +MDd _ Mse
PECTierZ = 5 , ,

37 86400" T,
(15)

o o

a r.nout,i + a. mseepage,i _ M
PECTierZ = 5 - 5,

3786400 T,
Moy, I 9
mseepage,i I g
mout,i = Ci ’ Qout ’ Ap ’ fp (16)
mseepage,i = (CI ’ Qseepage ’ Ap ’ fp)/Klevee (17)
I\/IDr MDd Mse (11) (12) (13)
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PECTierz — Mout +Mseepage+MDr +MDd - M

3786400" T,

se

Moy + Moo - M

seepage se

3786400° T,

PECTierZ =
Mout Mseepage
I\/lout :é.ci, Qout, Ap, fp

Mseepage = (é Ci ’ Qseepage, Ap ’ fp)/Klevee

I\/IDr MDd Mse (11) (12)
I:)EC:TierZ— deg = PECTierZ ’ e 0Tk

IDECTierZ—deg
k 1/day

_ In2 N In2
DT50, DT50,

DT50, day
DT50, day
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(13)

g/m

(18)

(19)

(20)

(21)

(22)



A, (ha) 50 50
Q.. (m*/ha/day) 30 30
Qseepage (M*/ha/day) 20 20
Diiver (%) 0.3 1.9
Z.iver (ha/day) 0.16 0.8
Daiten (%) 4 100
Zywon (ha/day) 0.07 0.33
Ngrire (day) PECrier.
V,, (m?) 1(m3/s)x 86400x T,(day) 1(m%/s)x 86400x T,(day)
Ve (M) 2000 2000
I (g/cm®) 1.0 1.0
ocC,. (%) 1.2 1.2
I evee (G/CM°) 1.0 1.0
s () 2.4 2.4
OC)evee (%0) 2.9 2.9

1 0.3
f, (-) 0.5 1

0.2
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0 o
PEC.. :amout,i +amseepage,i +MDr +MDd_ M
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se
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(Oryzas latipes) Cyprius carpio
(Daphnia magna)
(Selenastrum capricornutum)

12 11 24 12

LCso
EC50

L Cso
ECso
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8147

OECD



10

10

capricornutum)
1
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10
10

10

10

1000
(Selenastrum



Tierl PEC)

~
Tier2 PEC PEC>AEC
~ .
No
—
Yes e
_/
Tier3 PEC
~ .

AECT

(AECa)

AECd)

96hr-LCsox 1/10(1 1/10) AECF
48hr-ECsox 1/10(1 1/10) AECd

72hr-ECsox AECa

PEC
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